UGC NET 2021 Political Science Shift 1 PH

Topic:- GP_Set5_A

1 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
v |, 1-5

faeAita drfershn &= 2020-21 @ ZH famrem & urm fafus Gkl ama: o, T, e, 30
¥R g=teen 8 et & e w5 oewt 21 e 8 fafee Gerer 8 1750 3Enen afa we
3000 faremioat 1 AR 520 2| AifciRT § 9ET RS F OER 9 U H, 1-5 F I T

ToaTeTg Arartehe faenter =1 ufawg (%) | Fmiwd e = gtaed (%)
(3000 # @) (1750 @ =)
EREal 16% 14%
= 21% 28%
IEEET] 14% 16%
T 24% 20%
Aty 25% 29%

What iz the approximate percentage (%) of boys in the school?

(1) 42%
(3) 34%

ferene o =El = At aiaed (%)

(1) 42%
(3) 34%

(2) 28%

(4) 50%
(2) 28%
(4) 50%

[Question ID = 4849][Question Description = Q01_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18859]
2. 2 [Option ID = 18860]
3. 3 [Option ID = 18861]
4. 4 [Option ID = 18862]

2) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wize Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Tl A g400 ano.s




P et sec e ¥

| Handicraft

22%

T E. 1-5

it aferr =9 2020-21 % 3@ fenem ¥ w= f&fwa Grwera awh: aod, e, e, To

SR wEateren 0 faenfei & amrea #1 enidt 21 faoem °§ fafes Geamemat 8 1750 sEns afm g
3000 feremioat 1 AR 520 2| AifcrRT § ET 3RS F OER OO H, 1-5 F I T

et = fFaTeEn A

TR Ararihe faentern =1 ufaog (%) | Smiwd sEe = gtawd (%)
(3000 # #) (1750 ¥ &)
EREal 16% 14%
T 21% 28%
LEEED 14% 16%
I 24% 20%
Ay 25% 299%

How many boys are enrolled in Singing and Handicraft taken together?

(1) 485
(3) 420

(2) b5

(4) 585

A AR FEEe § 6w B0 H R o i 3¢

(1) 485
(3) 420

(2) b05

(4) B85

[Question ID = 4850][Question Description = Q02_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18863]
2 [Option ID = 18864]
3 [Option ID = 18865]
4 [Option ID = 18866]

A wN =

3 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled

in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
A H. 1-5

TR AT B9 2020-21 % S fErem 1 ue St G T dodfl, e, e, 9o
W wEatees 2 fFenfis & T w1 gt 21 e 4 fafes Geme 8 1750 sEne afEm we
3000 TEent=i o1 AR 3T B| TR B U HTHS % SNUN 9 WY H, 1-5 % I A

faentem =1 rarreTEr A

[PElE ] rartera faentert =1 ufaeorg (%) | Smiwa sEr = gtaw (%)
(3000 & ®) (1750 ® &)
biEal 16% 14%
= 21% 28%
IEEET] 14% 16%
Fis] 24% 20%
=rAtITET R0 990:




What is the total number of girls enrolled in Swimming and Drawing taken together?

(1) 505
(3) 525

2) 51

o

(4) 53

o

Tl S e HAE ®Y " e A SeneT # AW 2 7

(1) 505
(3) 525

(2) 515
(4) 535

[Question ID = 4851][Question Description = Q03_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18867]
2.2

[Option ID = 18868]
3.3

[Option ID = 18869]
4. 4

[Option ID = 18870]

4 The following table embodies the details about the enrollment of students in five different

activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled

1n various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 26% 229%
T H. 1-5
faeifra aferesr == 2020-21 % 2w famem & ure fafaw Gerwemdl 9ma: S, e, fEed, T

3 weafeen § faenfda & Fme w0 gwidr 21 e g fofae Geamerdt 9§ 1750 3@ afed #a
3000 Tarenfe=t =1 T 537 2| Afctwl § WET ATHS & ATYR WOATT H. 1-5 F I

et =1 GFaseEr T

ERIETIL] TR faenfeet =1 afqwa (%) | iR et w5 ataea (%)
(3000 § ®) (1750 ¥ ©)
el 16% 14%
= 21% 28%
ferrl 14% 16%
I 24% 20%
FEATET 25% 29%

The number of girls enrolled in Dancing forms what percent (%) of the total number of

students in the School? (Round-off to two digits)?

(1) 9.32%
(3) 11.67%

(2) 10.67%
(4) 14.67%

Py e

Jea # Armifed wEne i @e famem & Gt fi g e

qUTieR = ) 7

(1) 9.32%

(2) 10.67%

fepa ufaer (%) 2 (2818 311 |




(3) 11.67%

(4) 14.67%

[Question ID = 4852][Question Description = Q04_GP_22NOV_S1_SHAAN_Shift1]

. 1 [Option ID = 18871]
2 [Option ID = 18872]
3 [Option ID = 18873]
4 [Option ID = 18874]

A W N -

) The following table embodies the details about the enrollment of students in five different
actlvities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 229,
T H. 1-5
faetifrm afershn &= 2020-21 = ZH faarem § o fafym Serser A fwd, T, S, 3

3N grafeen § faanfda & Fme w gwidt 21 fGaem g fGfae Geaeerdt 9 1750 sEme afed #
3000 =it =1 ARRA 530 7| AT B AT ATHS F SR WA H. 1-5 FH I ¢

IERIETIL] TR faEnfeEt 1 afama (%) | iR SEnet w ataea (%)
(3000 & ®) (1750 % ®)
EREl 16% 14%
= 21% 28%
LEEED| 14% 16%
T 24% 20%
FEATIET 25% 29%

What 1s the ratio of the number of girls enrolled in Swimming to the number of boys enrolled

in Swimming?
(1) 509:49

(3) 33:43

T W ARIRT T ST DE H ST AT B

(1) 50 : 49

(3) 33 : 43

(2 23:29
(4) 49:47
(2) 23:29
(4) 49:47

[Question ID = 4853][Question Description = Q05_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18875]
2 [Option ID = 18876]
3 [Option ID = 18877]
4 [Option ID = 18878]

AN wnN -

Topic:- GP_Set5_B

1) Which of the following is designated as key behaviour of effectiveness of teaching as evident from researches?

(1) Using student ideas and contribution

(3) Teacher task-orientation

(2) Structuring
(4) Teacher affect



STEE H, THIE AT W g el HRE /A T R Y

(2) T
(3) T = - st
(4) Tz wETET

[Question ID = 4854][Question Description = Q06_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18879]
2.2

[Option ID = 18880]
3.3

[Option ID = 18881]
4. 4

[Option ID = 18882]
2) ldentify the indirect teaching strategies from the following list :
(A) Gaining attention, informing the learner of the objective and presenting the stimulus material
(B) Concept building through examples and non-examples
(C) Explaining, exemplification and practice
(D) Problem based presentation with pair-share technique
(E) Encouraging students to use references from their own experiences
Choose the correct answer from the options given below :

(1) (B), (D) and (E) (2) (A), (B) and (C)
(3) (B), (C) and (D) (4) (C), (D) and (E)

=T gl & siueaa e SEETaE w e Hir
(A) EIETEI, SaYEEAT 1 F2TA I GEE 31 TeETE A A
(B) IS SN 3TN F WiEA @ SEEren-HEm
(D) THI-WEHe TFATF F HTY T - ST W

(E) faenferi =i 39 =1 39wl 9 G99 o & (o0 dieansd e

Hr= fou 7o faweTl § § WE I F 9 Fi

(1)  (B). (D)3 (E)
(2 (A). (B)FE(C)
(3)  (B). (C)# (D)
(4)  (0). (D) 3R (E)
[Question ID = 4855][Question Description = Q07_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18883]
2.2

[Option ID = 18884]
3.3

[Option ID = 18885]
4. 4

[Option ID = 18886]

3) Match List | with List Il :



List | List Il

Modalities of Teaching Implementation

(A) Instruction (I) One way imposition of ideas from the teacher to the students
(B) Training (Il) Associative presentation of ideas from teacher to students

(C) Conditioning (1) Disciplined drill conducted by teacher

(D) Indoctrination (IV) Active interchange of ideas between teacher and students
Choose the correct answer from the options given below :

(1) (A)-(I1), (B)-(D), (C)-(1V), (D)-(ll) (2) (A)-(1), (B)-(I), (C)-(11), (D)-(IV)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(lln), (B)-(IV), (C)-(1), (D)-(IN)

i1 & = g1 = e it
L T

(A)  FrEuE (I)  Toami@=i o s % [F=r 51 Uhats
e

(B) iz (ID T & et =1 fo=m = ge=mi wegid

(C) waA (III) T=1%7F I Ermieta Senisa Sems

(D) wERMYm (IV) Taami@m «r s = s fE@=e) # dia
AEHA-TER

= fou e faed § H HE I =E i

1)  @-aD. (B)-(D. (C)-AV). (D)-(IID)
(2) (A)-(D). (B)-(I). (C)-(III). (D)-(IV)

(3) (A)-(IV). (B)-(III). (C)-(IT). (D)-(I)
(4) (A)-(IIL). (B)-(IV). (C)-(I). (D)-(IL)

[Question ID = 4856][Question Description = Q08_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18887]
2. 2 [Option ID = 18888]
3. 3 [Option ID = 18889]
4. 4 [Option ID = 18890]

4) Given below are two statements :

Statement | : Computer based testing promotes objectivity in assessment processes.

Statement Il : Choice-based credit system in Indian Higher Education is a new entry.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

I 5 o fem m

w9 (I) FAZ- ATITNE AT § SThei U § Feq el i s Heta 2

F4 (1) : WA | 3= foE B fawe- e wiee T U A saaea 2
ST Y % AT H, e B e el | 8 wed suged 39 6 9 i

(1) =9 (1) =i (1) 31 =t 2
(2) A (1) # (I 3 TEE E
(3) A (1) WA 2, T F97 (1) 7= 7
(4) YA (1) T &, @i B (1) w8 R

[Question ID = 4857][Question Description = Q09_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18891]



2. 2 [Option ID = 18892]
3. 3 [Option ID = 18893]
4. 4 [Option ID = 18894]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Teaching support system whether traditional or modern is purportedly put in place for effecting economy and
ensuring quality in teaching-learning transactions.

Reason (R) : Learning outcomes in order to be congruent with stipulated instructional goals need scaffolds to begin with.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= = wue for o # . v 9FYR (Assertion A) % =9 d fofma 2 A TH 35F % HA0 (Reason R) &

AT (A) : TITRTT TR WO, WA SYET AR, T 35vd SR g5 e A
forerr—afermm wigen o 1o = Gffres = 2

FRN (R) : foreor ttome =1 FuifE SFEoFTTF @5 F SFET 3E F 60 IRey § TF AT
THAT T AR w2

TN FAT F AR °, = 50 0 T § 1 gy 39 29 6 =95 A

(1) (A) ¥ (R) ZF1 @71 7 3R (R). (A) Fif 77 =men 2

(2) (A =W (R) =H G4 7, <A (R). (A) Fi @8 =amean 74 2

(3) (A)TE 2, S (R) o8 75 2

4 (AT, A (R
[Question ID = 4858][Question Description = Q10_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18895]
2 [Option ID = 18896]

3 [Option ID = 18897]
4 [Option ID = 18898]

A WN =

6) In which method of research an independent variable is manipulated with an intent to observe concomitant changes in
dependent variable?

(1) ExPost Facto method (2) Case study method
(3) Descriptive survey method (4) Experimental method

HIHE =7 0 Weadl giadAl & Ao °, B SEa Tonell § w50 206 AT S 2

(1) =M o] (2) =atE s o
(3) IV TEET T (4) TEFTEEF O]

[Question ID = 4859][Question Description = Q11_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18899]
2 [Option ID = 18900]
3 [Option ID = 18901]
4 [Option ID = 18902]

A W N -

7) ldentify the features of empirico-inductive paradigm of research

(A) Research is concerned with the process rather than simply with outcomes or products
(B) Based on logical positivist philosophy which assumes a single objective reality

(C) Researchers are concerned with what are called ‘participant perspectives’

(D) Attempts to establish universal context free generalizations

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A) and (C) only



(A)  FFEEH F HG TG W T 1 s g s o @
{B) fll-iﬁ.’ _ Waﬂﬁilaj T::ﬂ:[ I’[ Hﬂﬁil _sﬂ G T -d-'é'.._r-qqut.h ql*"ﬂr.ﬁl'—hdl T’:‘[ o= W a:na_l_ﬁ_d%
(C)  >HmGWFAl Wiaarft wiwsr F wfq s 2 2

(D) YO HEHGE HHIHTFT TG A A A 2

Jr= fou v faweal @ | TsE 39T ST 1 =EA e
(1) e (A) 31 (B)
2y "= (B) 31 (C)
(3) @A (C) #17 (D)
(4) A (A) #(C)

[Question ID = 4860][Question Description = Q12_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18903]
2. 2 [Option ID = 18904]
3. 3 [Option ID = 18905]
4. 4 [Option ID = 18906]

8) Match List | and List Il

List | List Il
Sampling Methods Procedure involved
(A) Simple Random Sampling (I) The first member is used as an informant to identify other. The process goes on like
this
(B) Stratified Random Sampling () The units are chosen intact on the basis of their settings
(C) Cluster Sampling () The units are chosen from defined groups/levels randomly
(D) Snowball sampling (IV) The units are chosen by giving equal and independent chance to each

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(l), (D)-(1V) (2) (A)-(IV), (B)-(1), (C)-(1), (D)-(1)
(3) (A)-(), (B)-(1V), (C)-(), (D)-(1N) (4) (A)-(1), (B)-(1), (C)-(1V), (D)-(l)

-1 % =y F=h-11 =1 foers Fifom
Ht-1 FHLII

(A) FmE AT e () w9" "= w1 =3 H ffemm FH R
YeAET F ®9 W Wgw A S 2| 4w
T 3H W § Tt et Al

(B) wfia afess wfaan (I1) srsal o <=9 ST =5 % FER W
Ty AT A 2

(C) Ferer dfasdl (IID) sshredi 1 =94 9f|ifud oge /Tad |
5= =9 8 a5

(D) =T A (IV) 3 F1 =99 TF A OHEE SR T

FE S TR S R
Hr faw o fepedi | ® wE 3w =EA Hifaw
1) (A)D. (B)-(II). (C)-(IID), (D)-(IV)
(2) (A)-(IV). (B)-(I1I). (C)-(II). (D)-(I)

(3) (A)-(TIT). (B)-(IV). (C)-(T). (D)-(II)
(4) (A)-(ID). (B)-(I). (C)-(IV), (D)-(I1I)

[Question ID = 4861][Question Description = Q13_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18907]
2.2

[Option ID = 18908]
3.3

[Option ID = 18909]
4. 4

[Option ID = 18910]



9) Given below are two statements :

Statement | : Action Research is used primarily to improve a given situation by a practitioner.

Statement Il : Applied research is directed at exploring applicability of principles already established.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

Tz FE e .

F24 (D) : FEATEFAT LT ATHEH HT IUENT THHG: U5 TiEdtd 1 Hagd 7w 2
Fod (ID) : =TaEd FFHEA YA -EAA Tl F I F 36vd F A i SR 39 A A

STIE F2F F A °, A9 50 T T W FeH S0 I 1 9EE A

(1) Fo (D) ¥7 (D) 591 771 7
2y A (D) 3 (ID) =T 7o 2
(3) = (D= 2, A Fo (1) T 2

4) T (DR 7, A e (D 99 7

[Question ID = 4862][Question Description = Q14_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18911]
2 [Option ID = 18912]
3 [Option ID = 18913]
4 [Option ID = 18914]

A W N -

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : A research thesis has to follow a prescribed format and style of referencing.
Reasons (R) : This ensures the observance of research ethics.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I =21 wum fou e 2 ;v wfawas (Assertionﬂ}%@ﬁ%ﬁ@ﬁ%?ﬁ?{mm%m(ReasonR)%ﬁ

AferR A):  TE-mE F v ffem wew v owedwen fosfen W s wen
TS 2
T (R) : =0 WiEA § S § AEn Hifd # eeE g 2 s 2|

ST FUF F AEAF 5, T B T fawed § 9 59 399 39 H1 =599 Fa

(1)  (A) 3R (R) 2 FE £ 37 (R), (A) #Fit =ét =amen 2
(2) (A 3R (R) ZA FE E, T (R). (A) Fi FwE = 6 2
(3) (A @A 2w (R) 78 T 2

(4) (A =F FE 7, °F (R) 75 2



[Question ID = 4863][Question Description = Q15_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18915]
2.2

[Option ID = 18916]
3.3

[Option ID = 18917]
4. 4

[Option ID = 18918]
11) Which of the following is an example of physical barrier to communication?

(1) Cultural disparity (2) Inattention
(3) Verbalism (4) Il health

frefefiga & & =+ =m =i Sifes 5 = SeEm 27

(1) = faam (2) FHAIEH
(3)  weETEsR (4) FEEEYE

[Question ID = 4864][Question Description = Q16_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18919]
2. 2 [Option ID = 18920]
3. 3 [Option ID = 18921]
4. 4 [Option ID = 18922]

12) When in a classroom communication, a teacher shows ability of creativity, correlation and analysis, it belongs to which
category of skills?

(1) Thinking skills (2) Expression skills
(3) Media utilization skills (4) Human skills

Fe1 AR F e g geeeEwal, WE-megm o favesw #7 gwar @ oveem G avit s

(1) T ==

(2) st Foe
(3)  difer s Fee
(4)  FEEE

[Question ID = 4865][Question Description = Q17_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18923]
2. 2 [Option ID = 18924]
3. 3 [Option ID = 18925]
4. 4 [Option ID = 18926]

13) Why do we communicate?

(A) For social interaction.

(B) For happiness sake.

(C) For messages to be understood.

(D) For sharing of experience.

(E) For protection of traditions.

Choose the correct answer from the options given below :

(1) (A), (©), (E)only  (2) (B), (C), (D) only
(3) (A), (C), (D) only  (4) (A), (B), (E) only

¢

TN i AETIFAT 1 8 7

(A) =T = R R
(B) TH=T _E'ﬂ

(©) = e A



(D) 999 13 FH 7

(E)  WERIs % G B

e fau o famweai # © wE 3w o =EA i

(1) == (A). (C). (E)
(2) @ (B). (C). (D)
(3)  =ad (A), (C). (D)
(4) = (A). (B). (E)

[Question ID = 4866][Question Description = Q18_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18927]
2. 2 [Option ID = 18928]
3. 3 [Option ID = 18929]
4. 4 [Option ID = 18930]

14) Match List | with List Il

List I List Il

Types of communication Function served

(A) Mass communication (I) Corridor discussion

(B) Intrapersonal communication (Il) Classroom Teaching

(C) Group communication (lll) For communicates with oneself

(D) Interpersonal communication (IV) For mechanical message transmission

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(l), (C)-(I1), (D)-(1) (2) (A)-(1), (B)-(IN), (C)-(ln), (D)-(IV)
(3) (A)-(I), (B)-(11D), (C)-(IV), (D)-(1) (4) (A)-(Iln), (B)-(I), (C)-(D), (D)-(IV)

F-1 % Wy g1 =1 e fitm
g1 g=i-11
TR F THR Fq T
(A) T FER (1)  wifer=m ==
(B) a3t Han (IT) e forem
(C) =g 5T (III) T34 % T1Y H=W =
(D) sAadare® FaN (IV) HiT wa= =990 29

A= Tou U ool © © WED 3T H =5 i

(1) (A)-(IV). (B)-(III). (C)-(IL). (D)-(I)

(2) (A)-(D). (B)-(II). (C)-(III), (D)-(IV)

(3) (A)-(ID), (B)-(IID), (C)-(IV), (D)-(I)

(4) (A)-(IID). (B)-(II). (C)-T). (D)-(IV)
[Question ID = 4867][Question Description = Q19_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 18931]
2.2

[Option ID = 18932]
3.3

[Option ID = 18933]
4. 4

[Option ID = 18934]

15) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : A man pulls a loaded truck by his hair which becomes news.



Reasons (R) : Unusual things make news called oddity and generate public interest.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Hr= @1 w30 e 2 uF AfEuE (Assertion A) % w9 H fofaa 2 @ gu0 3WF F00 (Reason R)

I (A) W s A A ST #, YR 7 i GiEal 2 91 9% SHEE 59 6l 2
FI (R) : AT =t AT ST & FEm SR 59 S SR e # G ot ol

IF FUA ATk H, A= o T el § B w39 36 1 =9 i

(1) (AR (R) 2 T & 31 (R), (A) Fi a8 =amen 2

(2)  (A) IR (R) ZA W E, @A (R), (A) F1 wE = T4 2
(3) (A TE R, = (R) w8 7 2

@) (A TEFE R, S (R TR

[Question ID = 4868][Question Description = Q20_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18935]
2. 2 [Option ID = 18936]
3. 3 [Option ID = 18937]
4. 4 [Option ID = 18938]

16) Smita rode her scooty Northwards, then turned left and then again rode to her left 4 km. She found herself exactly 2
km West of her starting point. How far did she ride Northward initially?

(1)2km  (2) 4km

(3)5km  (4) 6 km

fomar st =2t o I fem i W gTeE w5 F Iwe A gdt Wi = 9 gee 4 fEede ) amR
¥ 77 A W i 9 2 feerde afvsm 4 2 9 o | se e i i et amn e

(1) 2 Freries (2) 4 Frert
(3) 5 PR (4) 6 FFeET

[Question ID = 4869][Question Description = Q21_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18939]
2. 2 [Option ID = 18940]
3. 3 [Option ID = 18941]
4. 4 [Option ID = 18942]

17) A 108 meter long train moving at a speed of 50 km/hr crosses a 112 meters long train coming from the opposite
direction in 6 seconds. The speed of the second train is :

(1) 48 km/hr (2) 54 km/hr
(3) 66 km/hr (4) 82 km/hr

50 Tpendter ufage it 7fa ° == 5 108 dier =6t temst B B g o 9 112 der o4 e =
6 Ths T IR ! 2| gl termat =t afd = e ?

(1) 48 feretifiefae (2) 54 TFerHiE ) H
(3) 66 FRerdiz /g (4) 82 Trerdte /==

[Question ID = 4870][Question Description = Q22_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18943]
2. 2 [Option ID = 18944]
3. 3 [Option ID = 18945]
4. 4 [Option ID = 18946]



18) If a 30 meter ladder is placed against a 15 metre wall such that it just reaches the top of the wall, the angle of
elevation of the wall is :

(1) 45° (2) 30°

(3) 60° (4) 50°

3R 30 Hiew Fi =it 15 dex i fEn ¥ 7@ uHE @ A 5 9% En F i = ogdl 5w, a9 gEw ==
T FW 7

(1) 45° 2y 30°

(3) G60° (4) 50°
[Question ID = 4871][Question Description = Q23_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18947]
2. 2 [Option ID = 18948]

3. 3 [Option ID = 18949]
4. 4 [Option ID = 18950]

19) The profit earned by selling a chair for Rs. 752 is 1.2 times the loss incurred when the same chair was sold for Rs. 400.
What is the cost price of the chair?

(1) Rs. 540 (2) Rs. 592
(3) Rs. 560 (4) Rs. 640

s fopelt et =t 752/ - ®UU o s=H W st @iy e FE R 400/ - wUw A = 7% fasht @ = At w

N 1.2 TR, A FH F AT GoF T4 E 7
(1) 540/~ ®UT (2) 3592/- %00

(3) 560/- #00 (4) 640/- Uy

[Question ID = 4872][Question Description = Q24_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18951]
2. 2 [Option ID = 18952]
3. 3 [Option ID = 18953]
4. 4 [Option ID = 18954]

20) Three men, four women and six children can complete a work in seven days. A woman does double the work a man
does and a child does half the work a man does. How many women alone can complete this work in 7 days?

17 (2) 8
(3)9 (4) 12

o gEw, =R afaed @i 3 w3 fEd w1 oA 7 9 9 W #) 9FR 9 Afeen 9o 999 ° SR

FIM Fdl 8 AT THF =1 G569 I g B AT FW Fdr 2, 91 ot afeane 55 wm A 7 fm A g oaw

HAl B 7
(1) 7 (2) 8
(3) 9 (4 12

[Question ID = 4873][Question Description = Q25_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18955]
2. 2 [Option ID = 18956]
3. 3 [Option ID = 18957]
4. 4 [Option ID = 18958]

21) Given below are two statements :

Statement I : According to Nyava philosophy an argument proceeds only on those issues
that are completely unknown.

Statement II : According to Nyayva philosophy an argument does not proceed on those

1ssues that are well established.



In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement IT is incorrect.
(4) Statement I is incorrect but Statement II 1z correct.

F39 (I) : =14 59 % FHEN, - A FEe 39 G | war 2 9 qle: 99w

Fo (II) - = B9 WTEE, - Taaw 39 A | e we | gy 7

SR HUF % T |, e e e el 0 ® geg Iuge I wee i

(1)
(2)
(3)

4)

A (1) 311 (1) 31 =@l 3
T (1) # (1) 31 Teta 2
Fe (1) T 2, A %9 (1) Ted 2

FeA (1) T 2, = we (1D 78 3

[Question ID = 4874][Question Description = Q26_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18959]
2. 2 [Option ID = 18960]
3. 3 [Option ID = 18961]
4. 4 [Option ID = 18962]
22) With reference to Nyvava philesophy. which of the following statements is true?
(1) The linga or the middle term is not the Karana or operative cause of inference.
(2) The middle term may be a thing of the present but not of the past or the future.
(3) The middle term can function in an inference when past or future.
(4) The middle term can lead to the conclusion apart from the knowledge of vyapti or
the universal relation between it and the major term.
=1 =9 % wed H, (e § W FE-" FYE w1l 27
(1) o 319 2 40 A9=1 AHE H1 g=fed F0 TR
(2) 73 FuE F 9w @ a3, By ya e wfis =
(3) =9 9d @¥E qfFe BH W IEEE § TmE F 5Ed
(4)  =AE AU 7Y AR W F A= U0 FGG F JH F AGCE 57 T TF T5A1 T B

[Question ID = 4875][Question Description = Q27_GP_22NOV_S1_SHAAN_Shift1]

AN wnN -

23)

1 [Option ID = 18963]
2 [Option ID = 18964]
3 [Option ID = 18965]
4 [Option ID = 18966]

Given below are two statements :

Statement I : Mimamsakas and Vedantins agree with the Nalyvavikas that the
zvllogism consists of five members or propositions.
Statement II : Mimamsakas and Vedantins agree with the Naiyvavikas that the

syllogism 18 necessary only for pararthanumana or demonstrate inference
and not for svarthanumana or inference for oneself.
In the light of the above statements. Choose the most appropriate answer from the options



given below :

(1) Both Statement I and Statement 11 are correct.

(2) Both Statement I and Statement IT are incorrect.
(3 Statement I 1s correct but Statement II 1s incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.

= (1) e 27 F2i A9TEE % W19 39 9| W 9EAd § 6 AEaed | U 39 a7dE
Fo (II) : fiaEs AR FSEl AATR F WY 3@ A W HEAS § o AEaed A WEEe
FUET VAR SN % U sEvEs 2, 9 6 EnuEaE s9eE =EAE % )

S YA & oA °, S 50 e el 8 8 oeg 9 S 0 99 i
(1) =ed (1) 317 (ID) 51 =& 2
2) = (I) 31 (II) 1 7Teie 2
(3) = (D) &# &, Wi e (1) 7o B
(4) =9 (1) Ted 2, wired w5 (1) T8 8
[Question ID = 4876][Question Description = Q28_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18967]
2 [Option ID = 18968]

3 [Option ID = 18969]
4 [Option ID = 18970]

AN wnN -

24) Given below are two statements :

Statement | : A formal fallacy is one that may be identified through mere inspection of the form or structure of an
argument.

Statement Il : Formal fallacies are found only in deductive arguments that have identifiable forms.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 7 w5 few m E

T (D) - AR 2o =8 7 T96 ash—arad 1 AR w9 g =i e
ST T 2

FoA (ID) : STl SeeTE ¥ STTATTE - § uw oW F e afafiai st
TE=AT A

ITIRF YA = A A, 9= 50 70 e 3 8 w5 35 0 = i

(L) =9 (I) =i (D) &1 a9 &

(2) = (D) R 1D 3 wEe #

(3) 9 (1) OeF B, w599 0T B
(4) = (1) 58T 2, A FeE (1) 807 2

[Question ID = 4877][Question Description = Q29_GP_22NOV_S1_SHAAN_Shift1]
. 1 [Option ID = 18971]
2 [Option ID = 18972]
. 3 [Option ID = 18973]
4 [Option ID = 18974]

A W N -

25) ‘‘Whoever thrusts a knife into another person should be arrested. Surgeons thrust a knife into another person when
operating. Therefore surgeons should be arrested’’.
Which fallacy is committed in the following argument?



(1) Hasty generalization (2) Fallacy of accident
(3) Red Herring (4) Appeal to unqualified authority

=1 FE o ol ==t W = e, 36 e e S i) aea-afEes aeate # w6 o

=afth W =T 1 WA a1 2| 9, wed-Tafwes w e o s i)

I TH-TT9T § HA-TT EeTHE B 7

(1) AT amr=fiF
(2)  HAF F EAEE

(3) Tz Em

(4) 37 WIEERET AT

[Question ID = 4878][Question Description = Q30_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18975]
2. 2 [Option ID = 18976]
3. 3 [Option ID = 18977]
4. 4 [Option ID = 18978]

26) The next number P in the sequence of binary numbers 0, 10, 100, 110, P ....., is :

(1) 111 (2) 1000
(3) 1010 (4) 1001

0.10. 100, 110. P ..... =i fZ=r d@n=Ai & %9 9 P =1 94 a3 s ¢

(1) 111 (2) 1000

(3) 1010 (4) 1001

[Question ID = 4879][Question Description = Q31_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18979]
2. 2 [Option ID = 18980]
3. 3 [Option ID = 18981]
4. 4 [Option ID = 18982]

27) ldentify the correct order of following computer memory types ranked from slowest to fastest in terms of access time.
(A) Cache

(B) CDROM

(C) Hard Disk

(D) RAM

(E) Register

Choose the correct answer from the options given below :

(1) (©), (B), (A), (D), (E) (2) (E), (A), (D), (C), (B)
(3) (B), (C), (D), (A), (E) (4) (D), (A), (E), (B), (C)

FET % (TR HAE TEE F ged Ui @ T did & w0 | h T w5

=

(A)  F

(B)  ifs 1w
€y @ femh
(D) 37

(E) =

= f2u U e § | wEl 39 o =5 FIA

(1) (C). (B). (A). (D). (E)
(2 (E). (A). (D), (C). (B)



(3) (B). (C), (D), (A). (R)
(4) (D). (A). (E). (B). (C)

[Question ID = 4880][Question Description = Q32_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18983]
2. 2 [Option ID = 18984]
3. 3 [Option ID = 18985]
4. 4 [Option ID = 18986]

28) Given below are two statements :

Statement | : CPU executes software directly from secondary memory.

Statement Il : A software is termed as Open Source Software if it can be downloaded from the Internet.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= =1 %o o o #

2 (D) : Hifry fgeoee S9I © WiweePr B Teaer: FElE e 2
o (II) o7 WA HeF Ald BT FEeAld] 2 90 52042 O S1ees 5491 = °@|
TOE FHUA F AR 9, = G 0 e 5 " " 3 R wE i

(1) =@ (D) 311 (1D 5 & 7
2) =R (D) 3R (1D 31 39 2
(3) = (D) TeF 2, 9 F99 39F 7

(4)  FF (1) 2393 2, @ F94 (1D 979 &

[Question ID = 4881][Question Description = Q33_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18987]
2. 2 [Option ID = 18988]
3. 3 [Option ID = 18989]
4. 4 [Option ID = 18990]

29) Which of the following statements about wikis are True?

(A) Wiki pages can be locked by moderators to prevent vandlism.

(B) Every change that is made to a wiki page is logged and can be viewed in a history list.
(C) A wiki is designed to allow people to collaborate easily.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (C) only (4) (A), (B) and (C)

faefil = =g § FE-FF 8 FYH AT B

(A) Tt Bl =1 gEwEm T9 % T it W i W w2

(B) fafit um B o 71 weiw witEds sifRa T s 2 ot o0 et fome o g = o 2
(C) Tt =1 safiqmre =0Tl =1 STt & \=AT 1 A 3 3

Hrt fom 1o fameat § & @t 3w == i

(1)  =ad (A) 31 (B)

(2) == (B) #HR (C)



(3)  =ae (A) 3 (C)
(4)  (A). (B) =R (C)

[Question ID = 4882][Question Description = Q34_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18991]
2. 2 [Option ID = 18992]
3. 3 [Option ID = 18993]
4. 4 [Option ID = 18994]

30) Match List | with List I

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (I) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1l1) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(i), (B)-(1V), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(l), (C)-(1), (D)-(11)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(ID), (B)-(D), (C)-(1h), (D)-(IV)
H=f-1 % w1y g1 =1 feem i

=1 T-11
= Toran gedl f5ies uad A
(A) T ()  ifes srfafaorar, gur-zofaat, s=-wa
(B) T=FTH (IT) e wafeafs o smgs, Fatw
S—aEATH A 1 SR 3T STl
(C) fafomrim (IIT) el -l off s=waia e & foe
TRl ()
(D) wuE (IV) F=waitg forer & fou s Sidiva 9q9e

4= f2u 0 9T € ° T 3w ) =99 Fita

(1) (A)-AID, (B)-AV). (C)-AD), (D)-@)
@ (A)-AV). (B)-IID). (C)-@). (D)«(ID
(3)  (A)-AV). (B)-IID). (C)-ID). (D)D)
4)  (A)-AD. (B)-(D. (C)-(IID), (D)-(IV)

[Question ID = 4883][Question Description = Q35_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18995]
2. 2 [Option ID = 18996]
3. 3 [Option ID = 18997]
4. 4 [Option ID = 18998]

31) The waste component of waste categorized as ‘Trash’ consists of
(A) Paper, Cardboard cartons

(B) Animal wastes

(C) Industrial process wastes

(D) Vegetable wastes

(E) Wood

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (C) and (E) only
(3) (A), (C), (D) and (E) only (4) (A), (B), (D) and (E) only
I o T H Hoiiha e i g 2

(A) A, FIEAS T4
(B) w9 aiTE

(C) et i amafae
(D) = amafire



(L) =g

Hr fo o fammedt | =@ wE 3T I 9EA HifAv

(1) a9 (A) I (E)

(2) == (A), (C) 31 (E)

(3) =& (A). (C), (D) w1 (E)

(4)  FEA (A). (B). (D) *1 (E)
[Question ID = 4884][Question Description = Q36_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18999]
2. 2 [Option ID = 19000]

3. 3 [Option ID = 19001]
4. 4 [Option ID = 19002]

32) yUnder Sustainable Development Goal 12- Sustainable Consumption and Preduction. one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

(1 3% 2 %
(3) u 4 ¥

Under Sustainable Development Goal 12- Sustainable Consumption and Production, one of
the targets 1s to reduce per capita food waste at the retail and consumer levels by :

@y % =
3 X 4 %

[Question ID = 4885][Question Description = Q37_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19003]
2. 2 [Option ID = 19004]
3. 3 [Option ID = 19005]
4. 4 [Option ID = 19006]

33) Small hydro power potential in India is estimated approximately as

(1) ~ 60 MW (2) -~ 100 MW
(3) ~ 10 GW (4) ~ 20 GW

Tt | Y el wiich GHEEAT a2 w1 SgHE 27

(1) ~60wMmERE (2) ~ 100 =ETRE
(3) ~ 10 e (4) ~ 20rmae

[Question ID = 4886][Question Description = Q38_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19007]
2. 2 [Option ID = 19008]
3. 3 [Option ID = 19009]
4. 4 [Option ID = 19010]

34) The global environmental issue of Ozone depletion is due to emission of :
(A) Sulphur dioxide

(B) Chlorinated hydrocarbons

(C) Methane

(D) Carbone dixoide

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) only
(3) (B) and (D) only (4) (A), (B) and (C) only

(A) TET TEATEES
(B) TR EEgEEA
(C) Hiem

(D)  EA ST SFEIES

= f2u o famed © @ mEE I o= i



(1) a4 (A) i (B)

(2)  #A (B)

(3)  =a= (B) # (D)

(4)  =F&EA (A). (B) 31 (C)

[Question ID = 4887][Question Description = Q39_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19011]
2. 2 [Option ID = 19012]
3. 3 [Option ID = 19013]
4. 4 [Option ID = 19014]

35) Match List | with List Il

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (Il) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1l1) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(i), (B)-(1V), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(l), (C)-(1), (D)-(1N)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(ID), (B)-(D), (C)-(11D), (D)-(IV)

it & & g wrfas 27ag i TuenEdE % w1 § gt e e 2

(1) TEzEmEm (2) TemeEed
(3) TEE (4) ==

[Question ID = 4888][Question Description = Q40_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19015]
2. 2 [Option ID = 19016]
3. 3 [Option ID = 19017]
4. 4 [Option ID = 19018]

36) The NEP-2020 proposes to prepare which of the curriculum frameworks?
(A) National Curriculum Framework for School Education

(B) National Curriculum Framework for Adult Education

(C) National Curriculum Framework for Teacher Education

(D) National Curriculum Framework for Technical Education

(E) National Curriculum Framework for Vocational Education

Choose the correct answer from the options given below :

(1) (A), (C), (E) only (2) (B), (C), (D) only
(3) (A), (B), (C) only (4) (©), (D), (E) only
73 fore Hifg-2020 o, F=ira § 9 e TSR FET AT FE F WEE B Y
(A)  foeert foen g9 mdE wewwE @
(B) iz foren =g TEE TS B
(C) o Toren =g i wie=rshn ==
(D) TR a2 UgE TR g
i fou v famedi @ © @ 39 1 =me i

(1)  F=4 A), (). (B)

(2) ¥ (B), (C). (D)

(3)  FA(A). B). (C)

(4) A (C). (D). (B)
[Question ID = 4889][Question Description = Q41_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19019]

2. 2 [Option ID = 19020]
3. 3 [Option ID = 19021]



4. 4 [Option ID = 19022]
37) Which of the following values is related to self-transcendance?

(1) Security value (2) Value of Universalism
(3) Value of freedom (4) Value of conformity

Foeia @ @ FH-|1 go3 = -30Fd 9 Heg 27

(1) = g (2) TEGREATE A
(3)  TATAA F T (4) THHETE T g

[Question ID = 4890][Question Description = Q42_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19023]
2. 2 [Option ID = 19024]
3. 3 [Option ID = 19025]
4. 4 [Option ID = 19026]

38) NEP-2020 proposes to establish which of the following new bodies?
(A) SSSA

(B) PARAKH

(C) IITI

(D) NITI

(E) NTA

Choose the correct answer from the options given below :

(1) (A), (C), (D) only (2) (B), (C), (E) only
(3) (A), (B), (C) only (4) (B), (C), (D) only

72 forer Hifa-2020 & FerfEa 5§ A FwEi i s w5 aeaE 7
(A) Ty T

(B) wm

(C) s ame &t o

(D) ©F 3 A

(E) wdam

Hr= fow o faereqi @ @R 3w w1 =EA Hifaw

(1) === (A). (C). (D)
(2) &4 (B). (O). (E)
(3)  Fa (A). B). (O)
(4)  FA9 (B), (O). (D)

[Question ID = 4891][Question Description = Q43_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19027]
2. 2 [Option ID = 19028]
3. 3 [Option ID = 19029]
4. 4 [Option ID = 19030]

39) Which of the following is an apex advisory and non statutory body?

(1) NITI Aayog (2) NCTE
(3) AICTE (4) MCI

TreTifra 8 | =i war= SerEwnl R W-wEtas e w7

(1)  ifq s 2y wHEH 3

(3) TuwamH A (4) m i e
[Question ID = 4892][Question Description = Q44_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19031]
2. 2 [Option ID = 19032]

3. 3 [Option ID = 19033]
4. 4 [Option ID = 19034]

40) Who among the following was the first Chairman of UGC?



(1) Sh Humayun Kabir (2) Sh C.D. Deshmukh
(3) Sh M. Moolgaokar (4) Moolchand Sharma

fovafaae FER SEF F 9 SeE w97
(1) #ft zarg ==fe (2) g e
(3) it =, goTEE (4) wer=E Tl

[Question ID = 4893][Question Description = Q45_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 19035]
2 [Option ID = 19036]
3 [Option ID = 19037]
4 [Option ID = 19038]

AN wnN -

Topic:- GP_Set5_C

1) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

New National Education Policy is grounded in the assumptions that :

(A) There is increasing interconnectedness among nations at the global level.

(B) Technical knowledge should replace traditional models of learning.

(C) HEIs must focus on promotion of desirable ethical values.

(D) There is need for changes in legislative framework to facilitiate free exchange of academic ideas and achievements.
Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A) and (C) only
(3) (A), (C) and (D) only (4) (C) and (D) only
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[Question ID = 4894][Question Description = Q46_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 19039]
2.2

[Option ID = 19040]
3.3

[Option ID = 19041]
4. 4

[Option ID = 19042]

2) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training



colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy is framed with an objective of saving national HEls from competition at the global
level.

Statement Il : National Education Policy is framed with an objective of encouraging exchange of knowledge and expertise
both at local and global level.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.

Pt 7 e o oy o A

Tl 27 ARG O, TR 2 AT 8 A % e A R A e
AR AT FA 7 W W O W A T O R 6, 9 T e W T
¢ e T e 1 e . O o e e B e e
R e e e e i e e o e e el e e e
SRR YA % A T R SO 0 e o AT o ST 14 % W S
T A 580 RO 7 TR 9 9 11 9 1 e 97 6 O R e 7
T a7 T 91T 71 R 0 A W e 71 A v A 7 T T A ° W
71 | Taceh fil 1 e 27 7 T 9 Al R S el A i
T A 50 @ 1 7 T A G A He A9 W A A W T A |
T AR W SR T WA S W T =T R A A A o
TR S A T AE-T TR ) e S e A e
o) 1 09 T % A T A W 7 e R O A s, o 100 o
VAT A ¥ T v ] 1 T 1 e T A §6 T T A W
SR T ] 2 ) 0T 5 S %5 9% P S 1 59 v et
T, TR S, S - e A o o ST R | A A,
AT 0 AT AR % 6T R FEAT S T % B~ ) T 4 7 e
fn 0| et e & o 47 (32) % 0 0 R W % 9 4 00 A 390 T
7 T T 7 41 AT 1 AT A

= 3wy R e E

w9 (D) : i T Hifa w3 fen gl w0 ST T W ufeergl ° weE % ey |



Fam F 2

g7 (II) : it foren Hifs wud o dvas-EE w0 W TE @R s % ARm-uEE w6
qieATed 0 F 32 ° 39 T 2

I HAA % AT H, e fau o faweai 4 @ gew Suge I R = I

(L) =/ (D) =R 1D 591 =78 2
(2 = (D) #R AD ZH T E
3w (D) wE 7, wha wae (1) ToE 2

4)  F\ (D TR 2, S FweE (1) F7E 2

[Question ID = 4895][Question Description = Q47_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 19043]
2.2

[Option ID = 19044]
3.3

[Option ID = 19045]
4. 4

[Option ID = 19046]

3) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Which of the following statements most appropriately represent one of the chief concerns regarding higher education?
(1) It argues for only local production and of knowledge and its implementation.

(2) It emphasizes only upon implementation of foreign higher education models in India.

(3) It argues for mutual exchange of knowledge and learning among national and international institutions of higher

education.
(4) It argues for practical learning alone for employability putting social issues aside.
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[Question ID = 4896][Question Description = Q48_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19047]
2.2

[Option ID = 19048]
3.3

[Option ID = 19049]
4. 4

[Option ID = 19050]

4) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEIs/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be



facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Holistic education at HEIs is aimed at :

(A) Research internship with researchers and faculty at different HEls.

(B) Recyling of traditional knowledge systems.

(C) Providing opportunities for internships at local level.

(D) Keeping social sciences and natural sciences within distinct spheres of teaching and learning.
Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (A) and (C) only
(3) (A) and (D) only (4) (C) and (D) only
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[Question ID = 4897][Question Description = Q49_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19051]
2.2

[Option ID = 19052]
3.3

[Option ID = 19053]
4. 4

[Option ID = 19054]

5) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy envisages learning as a process of inculcating values of tolerance, inclusion and
sustainability.

Statement Il : National Education Policy lays stress on employability of learners in businesses and industries.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4898][Question Description = Q50_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 19055]
2.2

[Option ID = 19056]
3.3

[Option ID = 19057]
4. 4

[Option ID = 19058]

Topic:- 2 Political Science_A

1) Which one of the following statements is true?
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[Question ID = 6310][Question Description = S3_qSNz_PG_PLS_Q01]

1. No rights can be given to a man against the social interest /oI @I WIS Ba @ g BIS aiftipR ol f&u s A & [Option ID = 24703]
2. Grant of Rights has no concern with social interest/siférpR ygrel @2t @1 JAENfeID & 3 @IS dder aidt 8 [Option ID = 24704]

3. Rights can have anti-social character/aiferbRI @1 Fawu wmsIfRId 2l 3mar 8 [Option ID = 24705]

4. Rights are a selfish claim/aiferprR Fareff a1d 81 & [Option ID = 24706]

2) In which aspect does Modern Liberalism NOT believe?



